= A
N = 0 &8 AFH Y & A AN
20219 & =& 1 3 L3 s&=X3
2N sEX3 L
M S QMBS JEHY
Sl X sYaast Jexy (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
S =X 2 4,191,564 4,532,348 A340,784
= 361,903 361,903 0
=2 76,000 76,000 0
[= 357,284 357,284 0
2 3,396,377 3,737,161 A 340,784
SUMHEE IS 4,122,372 4,461,028 338,656
=2 361,903 361,903 0
= 76,000 76,000 0
[=4 357,284 357,284 0
2 3,327,185 3,665,841 338,656
Xosgstads JjEgrxy 1,478,562 1,509,562 A31,000
=2 44,903 44,903 0
[ 52,000 52,000 0
2 1,381,659 1,412,659 A31,000
HAAIL &3 22 29 175,048 190,048 A 15,000
201 LBt 100,548 115,548 215,000
02 2229 100,548 115,548 A 15,000
OFIQS(AEHA AUAMLA ASAEE 5)
5,000,000% 122 60,000 72,000 A 12,000
oz 2 750,000 *12¢ 9,000 12,000 A3,000
SoM2sSIHY J|E 22,608 25,608 A 3,000
202 04| 0 3,000 23,000
01 20 Y 0 3,000 23,000
OfUR=2 gz HAX HX 0 0 0 3,000 A 3,000
SENTAYSY 122,900 134,100 A11,200
101 Q1A H 108,300 109,500 A1,200
04 JIZtRIZ2XNEE2 108,300 109,500 A 1,200
OsdolacdA stAIM o8 0 1,200 A 1,200
201 L2 5,100 13,900 18,800
01 At 2t2lH 2,400 10,400 28,000
OSEXNc2Ra 22 A5 AL 0 8,000 A8,000
03 B A2 G H 2,700 3,500 A 800
Os=XNSAMY BILE 2,700 3,500 A 800
301 Lt A2 0 1,200 A 1,200
09 BHAIAHIXI &2 0 1,200 A 1,200
OsEXNTAY EItg &I Al 0 1,200 A 1,200
sYJ|adH IE2RY M2sAsMI 46,600 48,400 A 1,800
=2 24,200 24,200 0
2 22,400 24,200 A 1,800
201 LBt 10,200 12,200 22,000
=2 5,100 6,100 A 1,000
2 5,100 6,100 A 1,000




2N
X ZH -
L= B

el

SEXA
SHYEF U Jl=oHe
ANSsdaedst Ity

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
01 At 22l 10,200 12,200 £2,000
OsYSHMHZ(10HE) 2| 0 2,000 £2,000
= 0 1,000 £1,000
2 0 1,000 A1,000
202 01 36,400 36,200 200
= 19,100 18, 100 1,000
2 17,300 18, 100 £ 800
01 U0l 34,600 32,600 2,000
OsL2MMZ (100HE) DS 04| 18,000 16,000 2,000
= 9,000 8,000 1,000
2 9,000 8,000 1,000
04 =X 301t 1,800 3,600 A 1,800
OXNEZ2H sHolot+(SHER) 1,800 3,600 £1,800
= 1,800 1,800 0
2 0 1,800 ~1,800
selol M2ns 23 71,975 90,950 £ 18,975
= 24,500 24,500 0
2 47,475 66,450 ~18,975
S0 MesE Y 22,975 41,950 £ 18,975
201 et | 18,350 24,350 6,000
01 At 22l 18,350 24,350 26,000
OMH S0 A8ns DM M= 12,750 15,000 A2,250
OMoH =80l A8Ns 2SY2E A 950 1,200 £ 250
OFZ™S {xIls HA0Z Y LR 0 3,500 ~3,500
301 BB HZ 1,625 14,600 A 12,975
09 BAAHIXI® 2 0 9,600 ~9,600
OMB S0 A8nSs A 0 9,600 £9,600
12 JIEH2 &2 1,625 5,000 ~3,375
OM3 S0 ASDSE LA 1,625 3,000 A1,375
ORLHZ AHDS A 0 2,000 A2,000
SHEY Heo 84 461,760 516,960 55,200
2 38,720 38,720 0
= 141,214 141,214 0
2 281,826 337,026 55,200
SHOIEH S 49,900 105, 100 55,200
201 2Bt Y| 2,300 12,100 ~9,800
01 At 22l | 2,300 12,100 ~9,800
OSS=ZXNEX A8z BZDS Y AX 0 8,400 ~8,400
ONS=YPYL HFDS HTYX 700 2,100 A1,400
301 P EHZ 4,000 14,400 £10,400
09 BAAHIXI® 2 4,000 14,400 10,400
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2N sEXNEY
M sHAUAWS I
o9l sYmE 4o B OHM CERED
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" Hl DS 2
201 ¢er24| 54,900 59,700 A 4,800
01 At 22l 24,700 27,700 A 3,000
OJNSHLHE SEZ A 22 500,000 103 5,000 8,000 A 3,000
02 2324l 30,200 32,000 A 1,800
OstElis8dH 28 R
500,000& 103/ 5,000 6,000 A 1,000
OMZEE JtA AEHMEH SH 22l
1,200,000& =14 1,200 2,000 A 800
206 M= Hl 3,000 12,000 A 9,000
01 MHZ 4l 3,000 12,000 29,000
OJ)NZHE 88 TN MA 0 6,000 A 6,000
ONSHEE Mz 1,500,000& *23l 3,000 6,000 A 3,000
401 A& HIZ 2018 21,000 30,000 A 9,000
01 A& HI 21,000 30,000 A9,000
OHACCP THEIE AIEE = 6,000,000 14| 6,000 8,000 A 2,000
OM2MELD 0ldAX 3,250,000 =14 3,250 6,000 A2,750
Ot al sz 44X 1,850,000 =14l 1,850 6,000 A4,150
Os&ESItE Usd =2 20/t X
4,950,000 »24! 9,900 10,000 A 100
405 TtabF S| 84,140 101,600 A 17,460
01 AL ESH SHI 84,140 101,600 A 17,460
oEzE8 &8t 760,000& » 124 9,120 9,600 A 480
OsatEl3dEH XA 2
36,839,000 = 1CH 36,839 42,000 A5, 161
Os&SII B (UYABEZED]) 2
38,181,000 » 14! 38,181 50,000 A 11,819
sIIH MBlA 235t 1,444,460 1,545,830 A 101,370
= 216,500 216,500 0
s 35,000 35,000 0
< 23,400 23,400 0
s 1,169,560 1,270,930 A 101,370
SO HSHAL 609,580 655,650 A 46,070
201 Let249] 192,960 229,030 A36,070
01 At 22l 57,560 68,830 A11,270
OAHAIE A FTL2R A 5,000 15,000 A 10,000
OsJ1H dHlg #gs=s, atds 7Y
200,000 »254 5,000 6,000 21,000
OSIALUAME SAXY IS WA FE
40,0003 «2H %13/ 80 350 A 270
02 =224l 135,400 160,200 224,800
O AL &~ H20 |XE= 600,000& 104 600 3,000 A 2,400
O AL A~ HZ2TH 3= 0 2,400 A2,400
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SN SEXND
HE: SoiMoinst JlmY
ool S AEIA ZE CERED
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
SEEREERES I EEIES)
100, 0002 *700CH 70,000 90,000 20,000
405 THaHE S bl 295,020 305,020 £10,000
B EEEEET 295,020 305,020 210,000
OYUTHAIZ A SBHBIRL 1,220,000 *1120H 136,640 146,640 A10,000
SO A A JIBHE A 38,000 60,000 £22,000
401 AIEHI L 201 bI 38,000 60,000 A22,000
01 Al bl 38,000 60,000 22,000
OAUAIYA BATAHAENS AY)
19,000,00021 «22 £ 38,000 60,000 £22,000
=MD X 12,980 16,480 A3,500
301 LB 500 4,000 3,500
EENTEEE] 500 4,000 A3,500
OS2I F0IS DY FAX Ayl 500 4,000 3,500
SHAUY HAT 2Y 203,100 232,900 29,800
101 1 21Hl 77,500 88,000 £10,500
MIIZHZRISE S 77,500 88,000 210,500
OSXY X 23 77,500 88,000 £10,500
— 22 4% Y ZYo a3
200,0002 %43 172! 13,600 16,000 A2,400
— 244 23 08 ZAC oY
200, 0002 *6% *53. 252 63,900 72,000 £8,100
201 L2yl 78,000 92,300 A 14,300
02 22| 78,000 92,300 214,300
OsXe g U8 S| RE7Y
2,212,5002! +8H 17,700 32,000 A14,300
206 TH 2 bl 47,600 52,600 5,000
01 HE bl 47,600 52,600 £5,000
O==9g e = J|HEHE 222
2, 160,0002 *10CH 21,600 26,600 5,000
FHSAAU (SEXNHD) 68,840 71,320 A2,480
=2 65,640 68, 120 A2,480
SEXNAD JI=BY) 65,640 68, 120 A2,480
202 01| 30,520 33,000 A2,480
01 2L ol bl 22,360 24,840 A2,480
OF 04l & 22,360 24,840 A2,480
Wees(sEXen) 352 0 352
SHNE 352 0 352
2X3 BE3 352 0 352
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2N
X ZH -
L= B

el

SEXA
Heags(sExan)
BAXNE

SA Y- SA(BA) - NRAY - BES 0fl 0| & o H RS2
802 Btet=JIEt 352 0 352
01 =0ExstE=s 339 0 339

02018 == I A HHMA ALY OIXt ghy 155 0 155
02019 ===J1H UMAE AL OIXt ghy 84 0 84
02019 =4tX L2 I H S ALY Ol Kb EHe 77 0 77
02020 Z=4HX L2 I H 2HALS OI X+ BHE 23 0 23
02 Al - EHIEXESEE = 13 0 13
O 2020 == &Hl HWHMXI A OIXt ghy 13 0 13
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